(3s.) v. 2023 (41): 1–13. ISSN-0037-8712 IN PRESS doi:10.5269/bspm.50921

# Semi-Fredholm and Semi-Browder Spectra For $C_0$ -quasi-semigroups

A. Tajmouati, Y. Zahouan and M. A. Ould Mohamed Baba

ABSTRACT: In [5] D.Barcenas and H. Leiva are introduced the notion of  $C_0$ -quasi-semigroups of bounded linear operators, as a generalization of  $C_0$ -semigroups of operators. In this paper, we shall show the connections between a different spectra of the  $C_0$ -quasi-semigroups by the spectra of their generators, specially, ascent, descent essential ascent and essential descent, upper and lower semi-Fredholm and semi-Browder spectra.

Key Words:  $C_0$ -quasi-semigroup,  $C_0$ -semigroup, semi-Fredholm, ascent, descent spectrum, semi-Browder spectrum.

### Contents

1 Introduction 1

2 Main results 3

#### 1. Introduction

Let X be a complex Banach space and  $\mathcal{B}(X)$  the algebra of all bounded linear operators on X. The theory of quasi-semigroups of bounded linear operators, as a generalization of semigroups of operators, was introduced by Leiva and Barcenas [3], [4], [5]. Recently Sutrima, Ch. Rini Indrati and others [11] are show some relations between a  $C_0$ -quasi-semigroup and its generator related to the time-dependent evolution equation.

A two parameter commutative family  $\{R(t,s)\}_{t,s\geq 0}\subseteq \mathcal{B}(X)$  is called a strongly continuous quasi-semigroup (or  $C_0$ -quasi-semigroup) of operators if for every  $t,s,r\geq 0$  and  $x\in X$ , we have

- 1. R(t,0) = I, the identity operator on X,
- 2. R(t, s + r) = R(t + r, s)R(t, r),
- 3.  $\lim_{s \to 0^+} ||R(t,s)x x|| = 0$ ,
- 4. there exists a continuous increasing mapping  $M: [0, +\infty[ \longrightarrow [0, +\infty[$  such that,

$$||R(t,s)|| \leq M(t+s).$$

For a  $C_0$ -quasi-semigroup  $\{R(t,s)\}_{t,s\geq 0}$  on a Banach space X, let  $\mathcal{D}$  be the set of all  $x\in X$  for which the following limits exist,

$$\lim_{s\to 0^+} \frac{R(0,s)x-x}{s}, \lim_{s\to 0^+} \frac{R(t,s)x-x}{s} \text{ and } \lim_{s\to 0^+} \frac{R(t-s,s)x-x}{s}$$

and

$$\lim_{s\to 0^+}\frac{R(t,s)x-x}{s}=\lim_{s\to 0^+}\frac{R(t-s,s)x-x}{s}.$$

In this case, for  $t \geq 0$ , we define an operator A(t) on  $\mathcal{D}$  as

$$A(t)x = \lim_{s \to 0^+} \frac{R(t,s)x - x}{s}.$$

The family  $\{A(t)\}_{t\geq 0}$  is called infinitesimal generator of the  $C_0$ -quasi-semigroups  $\{R(t,s)\}_{t,s\geq 0}$  and  $\mathcal{D}$  the domain for A(t),  $t\geq 0$ .

2010 Mathematics Subject Classification: 47A10, 47D06. Submitted November 08, 2019. Published October 11, 2020 Theorem 1.1. /11/

Let  $\{R(t,s)\}_{t,s>0}$  be a  $C_0$ -quasi-semigroup on X with generator  $\{A(t)\}_{t>0}$  then,

- 1. For each  $t \geq 0$ , R(t, .) is strongly continuous on  $[0; +\infty[$ .
- 2. For each t > 0 and  $x \in X$ ,

$$\lim_{s \to 0^+} \frac{1}{s} \int_0^s R(t, h) x dh = x.$$

3. If  $x \in \mathcal{D}$ ,  $t \geq 0$  and  $t_0, s_0 \geq 0$  then,  $R(t_0, s_0)x \in \mathcal{D}$  and

$$R(t_0, s_0)A(t)x = A(t)R(t_0, s_0)x.$$

- 4. For each s > 0,  $\frac{\partial}{\partial s} R(t, s) x = A(t + s) R(t, s) x = R(t, s) A(t + s) x$ ;  $x \in \mathcal{D}$ .
- 5. If A(.) is locally integrable, then for every  $x \in \mathcal{D}$  and  $s \geq 0$ ,

$$R(t,s)x = x + \int_0^s A(t+h)R(t,h)xdh.$$

6. If  $f:[0;+\infty[\longrightarrow X \text{ is a continuous function, then for every } t\in[0;+\infty[$ 

$$\lim_{r \to 0^+} \frac{1}{r} \int_{s}^{s+r} R(t,h) f(h) dh = R(t,s) f(s).$$

**Theorem 1.2.** [11] Let A(t) be a closed and densely defined generator of a  $C_0$ -quasi-semigroup  $\{R(t,s)\}_{t,s\geq 0}$  such that the resolvent  $\Re(\lambda,A(t))=(\lambda I-A(t))^{-1}$  exists in  $S=\{\lambda\in\mathbb{C}: -\theta\leq\arg(\lambda)\leq\theta \text{ with }\theta\in]\frac{\pi}{2},\pi[\}$ .

If  $\lambda \in \rho(A(t))$ , then for all  $s \geq 0$  we have

$$\Re(\lambda, A(t))R(t, s) = R(t, s)\Re(\lambda, A(t))$$

In the semigroups theory, if A is an infinitesimal generator of a  $C_0$ -semigroup with domain D(A), then A is a closed operator and D(A) is dense in X. That is not always true for any  $C_0$ -quasi-semigroup, see [11].

In [8], [9], [10], [12], [13] the authors have studied the different spectra of the  $C_0$ -semigroup. In this paper, we will study  $C_0$ -quasi-semigroups, we will investigate the relationships between the different spectra of the  $C_0$ -quasi-semigroup and their generators, precisely for ascent, descent essential ascent and essential descent, upper and lower semi-Fredholm and semi-Browder spectra.

Throughout this work, we need the following definitions and notations:

Let T be a closed linear operator on X with domain D(T) and C(X) the space of closed operators, we denote by Rg(T), N(T),  $\rho(T)$  and  $\sigma(T)$ , respectively the range, the kernel, the resolvent and the spectrum of T, where  $\sigma(T) = \mathbb{C} \setminus \rho(T) = \{\lambda \in \mathbb{C} : \lambda I - T \text{ is not bijective}\}$ . The function resolvent of T is defined for all  $\lambda \in \rho(T)$  by  $\Re(\lambda, T) = (\lambda I - T)^{-1}$ .

The ascent and descent of a closed operator T are defined respectively by,

$$asc(T) = \min\{k \in \mathbb{N} : N(T^k) = N(T^{k+1})\}; des(T) = \min\{k \in \mathbb{N} : Rg(T^k) = Rg(T^{k+1})\}.$$

with the convention  $inf(\emptyset) = \infty$ .

The essential ascent and descent of a closed operator T are defined respectively by,

•  $asc_e(T) = min\{k \in \mathbb{N} : dim[N(T^{k+1})/N(T^k)] < \infty\}$ 

•  $des_e(T) := \inf\{k \in \mathbb{N} : \dim Rg(T^k)/Rg(T^{k+1}) < \infty\}.$ 

The ascent, descent, essential ascent and essential descent spectra are defined by,

- $\sigma_{asc}(T) = \{\lambda \in \mathbb{C} : asc(\lambda I T) = \infty\}$  ;  $\sigma_{des}(T) = \{\lambda \in \mathbb{C} : des(\lambda I T) = \infty\}.$
- $\sigma_{asc_e}(T) = \{\lambda \in \mathbb{C} : asc_e(\lambda I T) = \infty\}$  ;  $\sigma_{des_e}(T) = \{\lambda \in \mathbb{C} : des_e(\lambda I T) = \infty\}$ .

The sets of upper and lower semi-Fredholm and their spectra are defined respectively by,

- $\Phi_+(X) = \{T \in \mathcal{C}(X) : \alpha(T) := \dim(N(T)) < \infty \text{ and } Rg(T) \text{ is closed}\},\$  $\sigma_{e_+}(T) = \{\lambda \in \mathbb{C} : \lambda I - T \notin \Phi_+(X)\}.$
- $\Phi_{-}(X) = \{T \in \mathfrak{C}(X) : \beta(T) := codim(Rg(T)) = dim(X/Rg(T)) < +\infty\},$   $\sigma_{e_{-}}(T) = \{\lambda \in \mathbb{C} : \lambda I T \notin \Phi_{-}(X)\}.$

An operator  $T \in \mathcal{C}(X)$  is called semi-Fredholm, in symbol  $T \in \Phi_{\pm}(X)$ , if  $T \in \Phi_{+}(X) \cup \Phi_{-}(X)$ . An operator  $T \in \mathcal{C}(X)$  is called Fredholm, in symbol  $T \in \Phi(X)$ , if  $T \in \Phi_{+}(X) \cap \Phi_{-}(X)$ . The essential and semi-Fredholm spectra are defined by,

- $\sigma_e(T) = \{ \lambda \in \mathbb{C} : \lambda I T \notin \Phi(X) \}$
- $\sigma_{e_{\pm}}(T) = \{ \lambda \in \mathbb{C} : \lambda I T \notin \Phi_{\pm}(X) \}$

The sets of upper and lower semi-Browder and their spectra are defined respectively by,

- $Br_+(X) = \{T \in \Phi_+(X) : asc(T) < +\infty\} ; \sigma_{Br_+}(T) = \{\lambda \in \mathbb{C} : \lambda I T \notin Br_+(X)\}$
- $Br_{-}(X) = \{T \in \Phi_{-}(X) : des(T) < +\infty\} ; \sigma_{Br_{-}}(T) = \{\lambda \in \mathbb{C} : \lambda I T \notin Br_{-}(X)\}$

An operator  $T \in \mathcal{C}(X)$  is called semi-Browder, in symbol  $T \in Br_{\pm}(X)$ , if  $T \in Br_{+}(X) \cup Br_{-}(X)$ . An operator  $T \in \mathcal{C}(X)$  is called Browder, in symbol  $T \in Br(X)$ , if  $T \in Br_{+}(X) \cap Br_{-}(X)$ . The semi-Browder and Browder spectra are defined by,

- $\sigma_{Br_{+}}(T) = \{\lambda \in \mathbb{C} : \lambda I T \notin Br_{\pm}(X)\}.$
- $\sigma_{Br}(T) = \{ \lambda \in \mathbb{C} : \lambda I T \notin Br(X) \}.$

## 2. Main results

For later use, we introduce the following bounded linear operator acting on X and depending on the parameters  $\lambda \in \mathbb{C}$  and t, s > 0:

$$D_{\lambda}(t,s)x = \int_0^s e^{\lambda(s-h)}R(t-h,h)xdh$$
 for all  $x \in X$ .

We start by the following theorem,

**Theorem 2.1.** Let A(t) be a generator of a  $C_0$ -quasi-semigroup  $\{R(t,s)\}_{t,s\geq 0}$  such that A(t) is closed and densely defined. Then for all  $t\geq s>0$  and all  $\lambda\in\mathbb{C}$ , we have

1. For all  $x \in \mathcal{D}$ ,

$$D_{\lambda}(t,s)(\lambda I - A(t))x = [e^{\lambda s} - R(t-s,s)]x,$$

2. For all  $x \in X$ , we have  $D_{\lambda}(t,s)x \in \mathcal{D}$  and

$$(\lambda I - A(t))D_{\lambda}(t,s)x = [e^{\lambda s} - R(t-s,s)]x.$$

*Proof.* 1. By Theorem 1.1, we know that for all h > 0 and for all  $x \in \mathcal{D}$ ,

$$\frac{\partial R(t-h,h)}{\partial h}x = A(t)R(t-h,h)x = R(t-h,h)A(t)x.$$

Therefore, we conclude that

$$D_{\lambda}(t,s)[A(t)x] = \int_{0}^{s} e^{\lambda(s-h)}R(t-h,h)[A(t)x]dh$$

$$= \int_{0}^{s} e^{\lambda(s-h)}\frac{\partial R(t-h,h)}{\partial h}xdh$$

$$= \left[e^{\lambda(s-h)}R(t-h,h)x\right]_{0}^{s} + \lambda \int_{0}^{s} e^{\lambda(s-h)}R(t-h,h)xdh$$

$$= R(t-s,s)x - e^{\lambda s}x + \lambda D_{\lambda}(t,s)x. \tag{*}$$

Finally, we obtain for all  $x \in \mathcal{D}$ 

$$D_{\lambda}(t,s)(\lambda I - A(t))x = [e^{\lambda s} - R(t-s,s)]x.$$

2. Let  $\mu \in \rho(A(t))$ . From Theorem 1.2, we have for all  $x \in X$ 

$$\Re(\mu, A(t))R(t, s)x = R(t, s)\Re(\mu, A(t))x.$$

Hence, for all  $x \in X$  we conclude

$$\mathcal{R}(\mu, A(t))D_{\lambda}(t, s)x = \mathcal{R}(\mu, A(t)) \int_{0}^{s} e^{\lambda(s-h)} R(t-h, h)xdh$$
$$= \int_{0}^{s} e^{\lambda(s-h)} \mathcal{R}(\mu, A(t)) R(t-h, h)xdh$$
$$= \int_{0}^{s} e^{\lambda(s-h)} R(t-h, h) \mathcal{R}(\mu, A(t))xdh$$
$$= D_{\lambda}(t, s) \mathcal{R}(\mu, A(t))x.$$

Therefore, we obtain for all  $x \in X$ 

$$\begin{split} D_{\lambda}(t,s)x &= \int_{0}^{s} e^{\lambda(s-h)}R(t-h,h)xdh \\ &= \int_{0}^{s} e^{\lambda(s-h)}R(t-h,h)(\mu-A(t))\Re(\mu,A(t))xdh \\ &= \mu \int_{0}^{s} e^{\lambda(s-h)}R(t-h,h)\Re(\mu,A(t))xdh - \int_{0}^{s} e^{\lambda(s-h)}R(t-h,h)A(t)\Re(\mu,A(t))xdh \\ &= \mu \int_{0}^{s} e^{\lambda(s-h)}\Re(\mu,A(t))R(t-h,h)xdh - \int_{0}^{s} e^{\lambda(s-h)}R(t-h,h)A(t)\Re(\mu,A(t))xdh \\ &= \mu \Re(\mu,A(t)) \int_{0}^{s} e^{\lambda(s-h)}R(t-h,h)xdh - \int_{0}^{s} e^{\lambda(s-h)}R(t-h,h)[A(t)\Re(\mu,A(t))x]dh \\ &= \mu \Re(\mu,A(t))D_{\lambda}(t,s)x - D_{\lambda}(t,s)[A(t)\Re(\mu,A(t))x] \\ &\stackrel{(*)}{=} \mu \Re(\mu,A(t))D_{\lambda}(t,s)x - \left[R(t-s,s)\Re(\mu,A(t))x - e^{\lambda s}\Re(\mu,A(t))x + \lambda D_{\lambda}(t,s)\Re(\mu,A(t))x\right] \\ &= \mu \Re(\mu,A(t))D_{\lambda}(t,s)x - \Re(\mu,A(t))R(t-s,s)x + e^{\lambda s}\Re(\mu,A(t))x - \lambda \Re(\mu,A(t))D_{\lambda}(t,s)x \\ &= \Re(\mu,A(t))\left[\mu D_{\lambda}(t,s)x - R(t-s,s)x + e^{\lambda s}x - \lambda D_{\lambda}(t,s)x\right]. \end{split}$$

Therefore, for all  $x \in X$  we deduce  $D_{\lambda}(t,s)x \in \mathcal{D}$  and we have

$$(\mu - A(t))D_{\lambda}(t,s)x = \mu D_{\lambda}(t,s)x - R(t-s,s)x + e^{\lambda s}x - \lambda D_{\lambda}(t,s)x.$$

Finally, if  $\mu \longrightarrow \lambda$  we obtain for all  $x \in X$ ,

$$(\lambda I - A(t))D_{\lambda}(t,s)x = [e^{\lambda s} - R(t-s,s)]x.$$

For  $t \geq 0$ , we fix  $\mathcal{D}^0 = \mathcal{D}(A(t)^0) = X$ ,  $A(t)^0 = I$ , and for  $n \in \mathbb{N}$  we define by recurrence:

$$\begin{split} \mathcal{D}^n &= \mathcal{D}(A(t)^n) := \{x \in \mathcal{D}(A(t)^{n-1}) : A(t)^{n-1}x \in \mathcal{D}(A(t))\}, \\ A(t)^n x &= A(t)A(t)^{n-1}x \text{ pour } x \text{ } in\mathcal{D}(A(t)^n), \end{split}$$

We introduce:

$$X = D(A(t)^0) \supseteq D(A(t)) \supseteq D(A(t)^2) \supseteq \dots \supseteq D(A(t)^n).$$

**Corollary 2.2.** Let A(t) be a generator of the  $C_0$ -quasi-semigroup  $\{R(t,s)\}_{t,s\geq 0}$  such that A(t) is closed and densely defined. Then for all  $t\geq s>0$  and all  $\lambda\in\mathbb{C}$ , we obtain

1. For all  $x \in X$ ,

$$(\lambda I - A(t))^n [D_{\lambda}(t,s)]^n x = [e^{\lambda s} - R(t-s,s)]^n x.$$

2. For all  $x \in \mathbb{D}^n$ ,

$$[D_{\lambda}(t,s)]^{n}(\lambda I - [A(t)])^{n}x = [e^{\lambda s} - R(t-s,s)]^{n}x.$$

- 3.  $N[\lambda I A(t)] \subseteq N[e^{\lambda s} R(t s, s)].$
- 4.  $Rg[e^{\lambda s} R(t s, s)] \subseteq Rg[\lambda I A(t)].$
- 5.  $N[\lambda I A(t)]^n \subseteq N[e^{\lambda s} R(t s, s)]^n$ .
- 6.  $Rq[e^{\lambda s} R(t-s,s)]^n \subseteq Rq[\lambda I A(t)]^n$ .
- 7.  $Rg^{\infty}[e^{\lambda s} R(t-s,s)] \subseteq Rg^{\infty}[\lambda I A(t)].$

*Proof.* It's automatic by Theorem 2.1.

To obtain the results concerning the semi-Fredholm and semi-Browder spectra we need the following theorem.

**Theorem 2.3.** Let A(t) be a generator of the  $C_0$ -quasi-semigroup  $\{R(t,s)\}_{t,s\geq 0}$  such that A(t) is closed and densely defined. Then for all  $t\geq s>0$  and all  $\lambda\in\mathbb{C}$ , we have

1.  $(\lambda I - A(t))L_{\lambda}(t,s) + \varphi_{\lambda}(s)D_{\lambda}(t,s) = I$ , where I is identity operator,  $L_{\lambda}(t,s) = \frac{1}{s} \int_{0}^{s} e^{-\lambda h} D_{\lambda}(t,h) dh$  and  $\varphi_{\lambda}(s) = \frac{1}{s} e^{-\lambda s}$ .

Moreover, the operators  $L_{\lambda}(t,s)$ ,  $D_{\lambda}(t,s)$  and  $(\lambda I - A(t))$  are mutually commuting.

2. For all  $n \in \mathbb{N}^*$ , there exists an operator  $F_{\lambda,n}(t,s) \in \mathfrak{B}(X)$  such that,

$$(\lambda I - A(t))^n [L_{\lambda}(t,s)]^n + F_{\lambda,n}(t,s) D_{\lambda}(t,s) = I.$$

Moreover, the operator  $F_{\lambda,n}(t,s)$  is commute with each one of  $D_{\lambda}(t,s)$  and  $L_{\lambda}(t,s)$ .

3. For all  $n \in \mathbb{N}^*$ , there exists an operator  $B_{\lambda,n}(t,s) \in \mathcal{B}(X)$  such that,

$$(\lambda I - A(t))^n B_{\lambda,n}(t,s) + [F_{\lambda,n}(t,s)]^n [D_{\lambda}(t,s)]^n = I.$$

Moreover, the operator  $B_{\lambda,n}(t,s)$  is commute with each one of  $D_{\lambda}(t,s)$  and  $F_{\lambda,n}(t,s)$ .

*Proof.* 1. Let  $\mu \in \rho(A(t))$ . By theorem 2.1, for all  $x \in X$  we have  $D_{\lambda}(t,h)x \in \mathcal{D}$  and hence, for all  $t,s \geq 0$ ,

$$\begin{split} sL_{\lambda}(t,s)x &= \int_{0}^{s}e^{-\lambda h}D_{\lambda}(t,h)xdh \\ &= \int_{0}^{s}e^{-\lambda h}\mathcal{R}(\mu,A(t))(\mu-A(t))D_{\lambda}(t,h)xdh, \\ &= \mathcal{R}(\mu,A(t))[\mu\int_{0}^{s}e^{-\lambda h}D_{\lambda}(t,h)xdh - \int_{0}^{s}e^{-\lambda h}A(t)D_{\lambda}(t,h)xdh] \\ &= \mathcal{R}(\mu,A(t))[\mu sL_{\lambda}(t,s)x - \int_{0}^{s}e^{-\lambda h}A(t)D_{\lambda}(t,h)xdh] \end{split}$$

Therefore for all  $x \in X$ , we have  $L_{\lambda}(t,s)x \in \mathcal{D}$  and

$$s(\mu - A(t))L_{\lambda}(t,s)x = \mu sL_{\lambda}(t,s)x - \int_{0}^{s} e^{-\lambda h} A(t)D_{\lambda}(t,h)xdh.$$

Thus

$$A(t)(sL_{\lambda}(t,s)x) = \int_{0}^{s} e^{-\lambda h} A(t)D_{\lambda}(t,h)xdh.$$

Hence, we conclude that

$$(\lambda I - A(t))(sL_{\lambda}(t,s)x) = \lambda sL_{\lambda}(t,s)x - \int_{0}^{s} e^{-\lambda h} A(t)D_{\lambda}(t,h)xdh$$

$$= \lambda sL_{\lambda}(t,s)x - \int_{0}^{s} e^{-\lambda h} \left[\lambda D_{\lambda}(t,h)x - e^{\lambda h}x + R(t-h,h)x\right]dh \quad (Theorem 2.1)$$

$$= \lambda sL_{\lambda}(t,s)x - \lambda \int_{0}^{s} e^{-\lambda h} D_{\lambda}(t,h)xdh + \int_{0}^{s} xdh - \int_{0}^{s} e^{-\lambda h} R(t-h,h)xdh$$

$$= \lambda sL_{\lambda}(t,s)x - \lambda sL_{\lambda}(t,s)x + sx - e^{-\lambda s} \int_{0}^{s} e^{\lambda(s-h)} R(t-h,h)xdh$$

$$= sx - e^{-\lambda s} D_{\lambda}(t,s)x$$

$$= \left[s - s\varphi_{\lambda}(s)D_{\lambda}(t,s)\right]x,$$

Therefore, we obtain  $(\lambda I - A(t))L_{\lambda}(t,s) + \varphi_{\lambda}(s)D_{\lambda}(t,s) = I$ .

And since the family  $\{R(t,s)\}_{t,s\geq 0}$  is commutative, then for all  $t>s>h\geq 0$ , we have  $D_{\lambda}(t,h)R(t-s,s)=R(t-s,s)D_{\lambda}(t,h)$ .

Hence, for all  $s, r, t \ge h \ge 0$ , we have  $D_{\lambda}(t, s)D_{\lambda}(t, r) = D_{\lambda}(t, r)D_{\lambda}(t, s)$ .

Thus,

$$D_{\lambda}(t,s)L_{\lambda}(t,s) = L_{\lambda}(t,s)D_{\lambda}(t,s).$$

Since for all  $x \in X$ ,  $A(t)L_{\lambda}(t,s)x = \int_0^s e^{-\lambda h}A(t)D_{\lambda}(t,h)xdh$  and for all  $x \in \mathcal{D}$ ,  $A(t)D_{\lambda}(t,h)x = D_{\lambda}(t,h)A(t)x$ , then we obtain for all  $x \in \mathcal{D}$ ,

$$(\lambda I - A(t))L_{\lambda}(t,s)x = \lambda L_{\lambda}(t,s)x - A(t)L_{\lambda}(t)x$$

$$= \lambda L_{\lambda}(t,s)x - \int_{0}^{s} e^{-\lambda h}A(t)D_{\lambda}(t,h)xdh$$

$$= \lambda L_{\lambda}(t,s)x - \int_{0}^{s} e^{-\lambda h}D_{\lambda}(t,h)A(t)xdh$$

$$= \lambda L_{\lambda}(t,s)x - L_{\lambda}(t,s)A(t)x$$

$$= L_{\lambda}(t,s)(\lambda I - A(t))x.$$

2. For all  $n \in \mathbb{N}^*$ , we obtain

$$\begin{split} [(\lambda I - A(t))L_{\lambda}(t,s)]^n &= [I - \varphi_{\lambda}(s)D_{\lambda}(t,s)]^n \\ &= \sum_{i=0}^n C_n^i [-\varphi_{\lambda}(s)D_{\lambda}(t,s)]^i \\ &= I + \sum_{i=1}^n C_n^i [-\varphi_{\lambda}(s)D_{\lambda}(t,s)]^i \\ &= I - D_{\lambda}(t,s) \sum_{i=1}^n C_n^i [\varphi_{\lambda}(s)]^i [-D_{\lambda}(t,s)]^{i-1} \\ &= I - D_{\lambda}(t,s) F_{\lambda,n}(t,s), \end{split}$$

Where

$$F_{\lambda,n}(t,s) = \sum_{i=1}^{n} C_n^i [\varphi_{\lambda}(s)]^i [-D_{\lambda}(t,s)]^{i-1}.$$

Therefore, we have

$$(\lambda I - A(t))^n [L_{\lambda}(t,s)]^n + D_{\lambda}(t,s) F_{\lambda,n}(t,s) = I.$$

Finally, for commutativity, it's clear that  $F_{\lambda,n}(t,s)$  commute with each one of  $D_{\lambda}(t,s)$  and  $L_{\lambda}(t,s)$  since the operators  $L_{\lambda}(t,s)$ ,  $D_{\lambda}(t,s)$  and  $(\lambda I - A(t))$  are mutually commuting.

3. We have  $D_{\lambda}(t,s)F_{\lambda,n}(t,s)=I-(\lambda I-A(t))^n[L_{\lambda}(t,s)]^n$ , then for all  $n\in\mathbb{N}^*$ 

$$\begin{split} [D_{\lambda}(t,s)F_{\lambda,n}(t,s)]^{n} &= \left[I - (\lambda I - A(t))^{n}[L_{\lambda}(t,s)]^{n}\right]^{n} \\ &= I - \sum_{i=1}^{n} C_{n}^{i} \left[ (\lambda I - A(t))^{n}[L_{\lambda}(t,s)]^{n} \right]^{i} \\ &= I - (\lambda I - A(t))^{n} \sum_{i=1}^{n} C_{n}^{i} \left[ (\lambda I - A(t))^{n(i-1)}[L_{\lambda}(t,s)]^{ni} \right] \\ &= I - (\lambda I - A(t))^{n} B_{\lambda,n}(t,s), \end{split}$$

Where  $B_{\lambda,n}(t,s) = \sum_{i=1}^n C_n^i (\lambda I - A(t))^{n(i-1)} [L_{\lambda}(t,s)]^{ni}$ . Hence, we obtain

$$[D_{\lambda}(t,s)]^{n}[F_{\lambda,n}(t,s)]^{n} + (\lambda I - A(t))^{n}B_{\lambda,n}(t,s) = I.$$

Finally, the commutativity is clear.

We start by this result.

**Proposition 2.4.** Let A(t) be a closed and densely defined generator of a  $C_0$ -quasi-semigroup  $\{R(t,s)\}_{t,s\geq 0}$  on a Banach space X. If  $Rg[e^{\lambda s}-R(t-s,s)]^p$  is closed, then  $Rg[\lambda I-A(t)]^p$  is also closed.

*Proof.* Let  $(y_n)_{n\in\mathbb{N}}\subseteq X$  such that  $y_n\to y\in X$  and there exists  $(x_n)_{n\in\mathbb{N}}\subseteq \mathcal{D}$  satisfying

$$(\lambda I - A(t))^p x_n = y_n.$$

By (3) of theorem 2.3, for all  $n \in \mathbb{N}^*$ , there exists  $F_{\lambda,p}(t,s)$ ,  $B_{\lambda,p}(t,s) \in \mathfrak{B}(X)$  such that,

$$(\lambda I - A(t))^p B_{\lambda,p}(t,s) + [F_{\lambda,p}(t,s)]^p [D_{\lambda}(t,s)]^p = I.$$

Hence, we conclude that

$$[e^{\lambda s} - R(t - s, s)]^{p} [F_{\lambda, p}(t, s)]^{p} x_{n} = D_{\lambda}(t, s)^{p} (\lambda I - A(t))^{p} [F_{\lambda, p}(t, s)]^{p} x_{n} , \quad (by theorem 2.1)$$

$$= [F_{\lambda, p}(t, s)]^{p} D_{\lambda}(t, s)^{p} (\lambda I - A(t))^{p} x_{n}$$

$$= [F_{\lambda, p}(t, s)]^{p} D_{\lambda}(t, s)^{p} y_{n}$$

$$= y_{n} - (\lambda I - A(t))^{p} B_{\lambda, p}(t, s) y_{n}.$$

Thus,

$$y_n - (\lambda I - A(t))^p B_{\lambda,p}(t,s) y_n \in Rg[e^{\lambda s} - R(t-s,s)]^p.$$

Therefore,  $Rg[e^{\lambda s} - R(t-s,s)]^p$  is closed,  $B_{\lambda,p}(t,s)$  is bounded linear and  $y_n - (\lambda I - A(t))^p B_{\lambda,p}(t,s) y_n$  converges to  $y - (\lambda I - A(t))^p B_{\lambda,p}(t,s) y$ , we conclude that

$$y - (\lambda I - A(t))^p B_{\lambda,p}(t,s) y \in Rg[e^{\lambda s} - R(t-s,s)]^p.$$

Then there exists  $z \in X$  such that

$$[e^{\lambda s} - R(t - s, s)]^p z = y - (\lambda I - A(t))^p B_{\lambda, p}(t, s) y.$$

Hence, we have

$$y = [e^{\lambda s} - R(t - s, s)]^p z + (\lambda I - A(t)) B_{\lambda, p}(t, s) y;$$
  
=  $(\lambda I - A(t))^p D_{\lambda}(t, s)^p z + (\lambda I - A(t))^p B_{\lambda, p}(t, s) y;$   
=  $(\lambda I - A(t))^p [D_{\lambda}(t, s)^p z + B_{\lambda, p}(t, s) y].$ 

Finally, we obtain

$$y \in Rg(\lambda I - A(t))^p$$
.

**Theorem 2.5.** Let A(t) be a closed and densely defined generator of a  $C_0$ -quasi-semigroup  $\{R(t,s)\}_{t,s\geq 0}$  on a Banach space X. For all  $t\geq s>0$ , we have

- 1.  $e^{\sigma_{e_+}(A(t))s} \subseteq \sigma_{e_+}(R(t-s,s))\setminus\{0\}$ .
- 2.  $e^{\sigma_{e_-}(A(t))s} \subseteq \sigma_{e_-}(R(t-s,s))\setminus\{0\}.$
- 3.  $e^{\sigma_{e_{\pm}(A(t))s}} \subseteq \sigma_{e_{\pm}}(R(t-s,s))\setminus\{0\}$ .

Proof. 1. Suppose that  $e^{\lambda s} \notin \sigma_{e_+}(R(t-s,s))$ , then there exists  $n \in \mathbb{N}$  such that  $\alpha[e^{\lambda s} - R(t-s,s)] = n$  and  $Rg[e^{\lambda s} - R(t-s,s)]$  is closed.

By corollary 2.2, we have

$$N(\lambda I - A(t)) \subset N[e^{\lambda s} - R(t - s, s)],$$

then

$$\alpha(\lambda I - A(t)) \le n.$$

On the other hand, from proposition 2.4, we deduce that  $Rg(\lambda I - A(t))$  is closed. Therefore  $\lambda I - A(t) \in \Phi_{+}(\mathcal{D})$ , Then  $\lambda \notin \sigma_{e_{+}}(A(t))$ .

2. Suppose that  $e^{\lambda s} \notin \sigma_{e_{-}}(R(t-s,s))$ , then there exist  $n \in \mathbb{N}$  such that  $\beta[e^{\lambda s} - R(t-s,s)] = n$ . By corollary 2.2, we obtain

$$Rg[e^{\lambda s} - R(t - s, s)] \subseteq Rg(\lambda I - A(t)),$$

then  $\beta(\lambda I - A(t)) \leq n$  and hence,  $\lambda \notin \sigma_{e_{-}}(A(t))$ 

3. It is automatic by the previous assertions of this theorem.

**Remark 2.6.** Note that the inclusion  $\{e^{\lambda s}, \lambda \in \sigma_*(A(t))\} \subseteq \sigma_*(R(t-s,s)) \setminus \{0\}$ , where  $\sigma_* \in \{\sigma_{e_+}, \sigma_{e_-}, \sigma_{e_+}\}$  is strict as shown in the following example.

**Example 2.7.** Let R(t,s) = T(s) where  $\{T(s)\}_{s\geq 0}$  is the translation group on the space  $C_{2\pi}(\mathbb{R})$  of all  $2\pi$  periodic continuous functions on  $\mathbb{R}$  and denote its generator by A (see [10, Paragraph I.4.15]). From [10, Examples 2.6.iv] we have,  $\sigma(A(t)) = \sigma(A) = i\mathbb{Z}$ , then  $e^{\sigma(A(t))s}$  is at most countable, therefore  $e^{\sigma_*(A(t))s}$  are also.

The spectra of the operators T(s) are always contained in  $\Gamma = \{z \in \mathbb{C} : |z| = 1\}$  and contain the eigenvalues  $e^{iks}$  for  $k \in \mathbb{Z}$ . Since  $\sigma(T(s))$  is closed, it follows from [10, Theorem IV.3.16] that  $\sigma(T(s)) = \Gamma$  whenever  $s/2\pi \notin \mathbb{Q}$ , then  $\sigma(T(s))$  is not countable, so  $\sigma_*(R(t-s,s))\setminus\{0\}$  are also.

To obtain a results for ascent and descent spectra we need the following proposition.

**Proposition 2.8.** Let A(t) be a closed and densely defined generator of a  $C_0$ -quasi-semigroup  $\{R(t,s)\}_{t,s>0}$  on a Banach space X. For all  $t \geq s > 0$ , we have

- 1. If  $des[e^{\lambda s} R(t s, s)] = n$ , then  $des[\lambda I A(t)] \le n$ .
- 2. If  $asc[e^{\lambda s} R(t s, s)] = n$ , then  $asc[\lambda I A(t)] \le n$ .

Proof.

1. Let  $y \in Rg[\lambda I - A(t)]^n$ , then there exists  $x \in \mathcal{D}^n$  (domain of  $A(t)^n$ ) satisfying,

$$(\lambda I - A(t))^n x = y.$$

Since  $des[e^{\lambda s} - R(t-s,s)] = n$ , therefore  $Rg[e^{\lambda s} - R(t-s,s)]^n = Rg[e^{\lambda s} - R(t-s,s)]^{n+1}$ . Hence, there exists  $z \in X$  such that

$$[e^{\lambda s} - R(t - s, s)]^n x = [e^{\lambda s} - R(t - s, s)]^{n+1} z.$$

On the other hand, by theorem 2.3, we have,

$$(\lambda I - A(t))^n B_{\lambda n}(t,s) + [F_{\lambda n}(t,s)]^n [D_{\lambda}(t,s)]^n = I,$$

Thus we have,

$$y = (\lambda I - A(t))^{n} x$$

$$= (\lambda I - A(t))^{n} [(\lambda I - A(t))^{n} B_{\lambda,n}(t,s) + [F_{\lambda,n}(t,s)]^{n} [D_{\lambda}(t,s)]^{n}] x$$

$$= (\lambda I - A(t))^{n} (\lambda I - A(t))^{n} B_{\lambda,n}(t,s) x + [F_{\lambda,n}(t,s)]^{n} (\lambda I - A(t))^{n} [D_{\lambda}(t,s)^{n}] x$$

$$= (\lambda I - A(t))^{2n} B_{\lambda,n}(t,s) x + [F_{\lambda,n}(t,s)]^{n} [e^{\lambda s} - R(t-s,s)]^{n} x$$

$$= (\lambda I - A(t))^{2n} B_{\lambda,n}(t,s) x + [F_{\lambda,n}(t,s)]^{n} [[e^{\lambda s} - R(t-s,s)]^{n+1} z]$$

$$= (\lambda I - A(t))^{2n} B_{\lambda,n}(t,s) x + [F_{\lambda,n}(t,s)]^{n} [(\lambda I - A(t))^{n+1} [D_{\lambda}(t,s)]^{n+1} z]$$

$$= (\lambda I - A(t))^{n+1} [(\lambda I - A(t))^{n-1} B_{\lambda,n}(t,s) x + [F_{\lambda,n}(t,s)]^{n} [D_{\lambda}(t,s)]^{n+1} z].$$

Therefore, we conclude that  $y \in Rg[\lambda I - A(t)]^{n+1}$  and hence,

$$Rg[\lambda I - A(t)]^n = Rg[\lambda I - A(t)]^{n+1}.$$

Finally, we conclude that

$$des(\lambda I - A(t)) \le n.$$

2. Let  $x \in N(\lambda I - A(t))^{n+1}$  and we suppose that  $asc[e^{\lambda s} - R(t-s,s)] = n$ , then we obtain

$$N[e^{\lambda s} - R(t - s, s)]^n = N[e^{\lambda s} - R(t - s, s)]^{n+1}.$$

From corollary 2.2, we have

$$N(\lambda I - A(t))^{n+1} \subseteq N[e^{\lambda s} - R(t - s, s)]^{n+1},$$

hence

$$x \in N[e^{\lambda s} - R(t - s, s)]^n$$
.

Thus we have,

$$(\lambda I - A(t))^{n} x = (\lambda I - A(t))^{n} [(\lambda I - A(t))^{n} B_{\lambda,n}(t,s) + [F_{\lambda,n}(t,s)]^{n} [D_{\lambda}(t,s)]^{n}] x$$

$$= (\lambda I - A(t))^{2n} B_{\lambda,n}(t,s) x + [F_{\lambda,n}(t,s)]^{n} (\lambda I - A(t))^{n} [D_{\lambda}(t,s)]^{n} x$$

$$= B_{\lambda,n}(t,s) (\lambda I - A(t))^{n-1} (\lambda I - A(t))^{n+1} x + [F_{\lambda,n}(t,s)]^{n} [e^{\lambda s} - R(t-s,s)]^{n} x$$

$$= 0.$$

Therefore, we obtain  $x \in N(\lambda I - A(t))^n$  and hence

$$asc(\lambda I - A(t)) \le n.$$

**Theorem 2.9.** Let A(t) be a closed and densely defined generator of a  $C_0$ -quasi-semigroup  $\{R(t,s)\}_{t,s\geq 0}$  on a Banach space X.  $t\geq s>0$ , we have

1. 
$$e^{\sigma_{asc}(A(t))s} \subseteq \sigma_{asc}(R(t-s,s)) \setminus \{0\}.$$

2. 
$$e^{\sigma_{des}(A(t))s} \subset \sigma_{des}(R(t-s,s)) \setminus \{0\}.$$

*Proof.* Immediately comes from proposition 2.8.

The following theorem examines the semi-Browder spectrum.

**Theorem 2.10.** Let A(t) be a closed and densely defined generator of a  $C_0$ -quasi-semigroup  $\{R(t,s)\}_{t,s>0}$  on a Banach space X. For all  $\lambda \in \mathbb{C}$  and all  $t \geq s > 0$ , we have

- 1.  $e^{\sigma_{Br_+}(A(t))s} \subseteq \sigma_{Br_+}(R(t-s,s))\setminus\{0\}.$
- 2.  $e^{\sigma_{Br_-}(A(t))s} \subseteq \sigma_{Br_-}(R(t-s,s))\setminus\{0\}.$
- 3.  $e^{\sigma_{Br_{\pm}}(A(t))s} \subseteq \sigma_{Br_{\pm}}(R(t-s,s))\setminus\{0\}.$

Proof. 1. Suppose that  $e^{\lambda s} \notin \sigma_{Br_+}(R(t-s,s))$ , then there exist  $n,m \in \mathbb{N}$  such that  $\alpha[e^{\lambda s} - R(t-s,s)] = m$ ,  $Rg[e^{\lambda s} - R(t-s,s)]$  is closed and  $asc[e^{\lambda s} - R(t-s,s)] = n$ . From corollary 2.2 and Propositions 2.4 and 2.8, we obtain

$$\alpha(\lambda I - A(t)) \leq m$$
,  $Rg(\lambda I - A(t))$  is closed and  $asc(\lambda I - A(t)) \leq n$ .

Therefore  $\lambda I - A(t) \in \Phi_+(\mathcal{D})$  and  $asc(\lambda I - A(t)) < +\infty$  and hence,  $\lambda \notin \sigma_{Br_+}(A(t))$ .

2. Suppose that  $e^{\lambda s} \notin \sigma_{Br_-}(R(t-s,s))$ , then there exist  $n, m \in \mathbb{N}$  such that  $\beta[e^{\lambda s} - R(t-s,s)] = m$  and  $des[e^{\lambda s} - R(t-s,s)] = n$ . By corollary 2.2 and Proposition 2.8, we obtain

$$\beta(\lambda I - A(t)) < m \text{ and } des(\lambda I - A(t)) < n.$$

Therefore  $\lambda I - A(t) \in \Phi_{-}(\mathcal{D})$  and  $des(\lambda I - A(t)) < +\infty$  and hence,  $\lambda \notin \sigma_{Br_{-}}(A(t))$ .

3. It is automatic by the previous assertions of this theorem and proposition 2.4.

**Proposition 2.11.** Let A(t) be a closed and densely defined generator of a  $C_0$ -quasi-semigroup  $\{R(t,s)\}_{t,s>0}$  on a Banach space X. For all  $t \geq s > 0$ , we have

- 1. If  $des_e[e^{\lambda s} R(t s, s)] = n$ , then  $des_e[\lambda I A(t)] \le n$ .
- 2. If  $asc_e[e^{\lambda s} R(t-s,s)] = n$ , then  $asc_e[\lambda I A(t)] \le n$ .

*Proof.* 1. Suppose that  $des_e[e^{\lambda s} - R(t-s,s)] = n$ , Since  $Rg[e^{\lambda s} - R(t-s,s)]^n \subseteq Rg(\lambda I - A(t))^n$  we define the linear surjective application  $\phi$  by

$$\phi: Rg(\lambda I - A(t))^{n} \to Rg[e^{\lambda s} - R(t - s, s)]^{n} / Rg[e^{\lambda s} - R(t - s, s)]^{n+1},$$
  

$$y = (\lambda I - A(t))^{n} x \mapsto [e^{\lambda s} - R(t - s, s)]^{n} x + Rg[e^{\lambda s} - R(t - s, s)]^{n+1}.$$

Thus, by isomorphism Theorem, we obtain

$$Rg(\lambda I - A(t))^n / N(\phi) \simeq Rg[e^{\lambda s} - R(t - s, s)]^n / Rg[e^{\lambda s} - R(t - s, s)]^{n+1}.$$

Therefore

$$dim(Rg(\lambda I - A(t))^n / N(\phi)) = des_e[e^{\lambda s} - R(t - s, s)] = n.$$

And since  $N(\phi) \subseteq Rg[e^{\lambda s} - R(t-s,s)]^{n+1} \subseteq Rg(\lambda I - A(t))^{n+1}$ , then

$$Rg(\lambda I - A(t))^n / Rg(\lambda I - A(t))^{n+1} \subseteq Rg(\lambda I - A(t))^n / N(\phi).$$

Then,  $dim(Rg(\lambda I - A(t))^n/R(\lambda I - A(t))^{n+1}) \le dim(Rg(\lambda I - A(t))^n/N(\phi)) = n$ . Finally, we obtain that  $des_e(\lambda I - A(t)) \le n$ 

2. Suppose that

$$asc_e[e^{\lambda s} - R(t - s, s)] = n.$$

And since  $N(\lambda I - A)^{n+1} \subseteq N[e^{\lambda s} - R(t - s, s)]^{n+1}$ , we define the linear application  $\psi$  by

$$\begin{array}{ccc} \psi: N(\lambda I-A(t))^{n+1} & \to & N[e^{\lambda s}-R(t-s,s)]^{n+1}/N[e^{\lambda s}-R(t-s,s)]^n, \\ x & \mapsto & x+N[e^{\lambda s}-R(t-s,s)]^n. \end{array}$$

Thus, by isomorphism Theorem, we obtain

$$N(\lambda I - A(t))^{n+1}/N(\psi) \simeq Rg(\psi) \subseteq N[e^{\lambda s} - R(t-s,s)]^{n+1}/N[e^{\lambda s} - R(t-s,s)]^n.$$

Therefore

$$dim(N(\lambda I - A)^{n+1}/N(\psi)) \le asc_e[e^{\lambda s} - R(t - s, s)] = n.$$

And since  $N(\psi) \subseteq N[e^{\lambda s} - R(t - s, s)]^n \subseteq Rg(\lambda I - A(t))^n$ , then

$$N(\lambda I - A(t))^{n+1}/N(\lambda I - A(t))^n \subseteq N(\lambda I - A(t))^{n+1}/N(\psi).$$

Finally, we obtain  $asc_e(\lambda I - A) \le n$ .

We will discuss in the following result the essential ascent and descent spectrum.

**Theorem 2.12.** Let A(t) be a closed and densely defined generator of a  $C_0$ -quasi-semigroup  $\{R(t,s)\}_{t,s>0}$  on a Banach space X. For all  $t \geq s > 0$ , we have

1. 
$$e^{\sigma_{asc_e}(A(t))s} \subseteq \sigma_{asc_e}(R(t-s,s))\setminus\{0\}$$
.

2. 
$$e^{\sigma_{dsc_e}(A(t))s} \subseteq \sigma_{dsc_e}(R(t-s,s)) \setminus \{0\}.$$

*Proof.* 1. Suppose that  $e^{\lambda s} \notin \sigma_{asc_e}(R(t-s,s))$ . Then there exists  $n \in \mathbb{N}$  satisfying

$$asc_e[e^{\lambda s} - R(t-s,s)] = n.$$

Therefore, by Proposition 2.11, we obtain  $asc_e[\lambda I - A(t)] \le n$  and hence

$$\lambda \notin \sigma_{asc_e}(A(t)).$$

2. Suppose that

$$e^{\lambda s} \notin \sigma_{des_e}(R(t-s,s)).$$

Then there exists  $n \in \mathbb{N}$  satisfying

$$des_e[e^{\lambda s} - R(t - s, s)] = n.$$

Therefore, by Proposition 2.11, we obtain  $des_e[\lambda I - A(t)] \leq n$  and hence  $\lambda \notin \sigma_{des_e}(A(t))$ .

Remark 2.13. The inclusions of the previous theorem 2.4 and 2.6 is strict. Because according to example 2.7, the spectra  $e^{\sigma_{asc}(A(t))s}$ ,  $e^{\sigma_{des}(A(t))s}$ ,  $e^{\sigma_{asc_e}(A(t))s}$  and  $e^{\sigma_{des_e}(A(t))s}$  are at most countable, but according to corollary 2.10, 1.8 in preprints [6], [7] the spectra  $\sigma_{asc}(R(t-s,s))$ ,  $\sigma_{des}(R(t-s,s))$ ,  $\sigma_{asc_e}(R(t-s,s))$ , and  $\sigma_{des_e}(R(t-s,s))$  are not countable.

# Acknowledgments

The authors are thankful to the referee for his valuable comments and suggestions.

### References

- 1. P. Aiena, Fredholm and Local Spectral Theory with Applications to Multipliers, Kluwer. Acad. Press, 2004.
- 2. W. Arendt, Vector-valued Laplace Transforms and Cauchy Problems, Israel J. Math, 59 (3) (1987), 327-352.
- 3. D. BARCENAS AND H. LEIVA, Quasisemigroups, Evolutions E quation and Controllability, Notas de Matematicas no. 109, Universidad de Los Andes, Merida, Venezuela, 1991.
- 4. D. Barcenas and H. Leiva, Quasisemigroups and evolution equations, International Journal of Evolution Equations, vol. 1, no. 2, pp. 161-177, 2005.
- D. BARCENAS, H. LEIVA AND A.T. MOYA, The Dual Quasi -Semigroup and Controllability of Evolution Equations, Journal of Mathematical Analysis and Applications, vol. 320, no. 2, pp. 691-702, 2006.
- O. Bel Hadj Fredj, M. Burgos and M. Oudghiri, Ascent spectrum and essential ascent spectrum, Studia Math., 187 (1) (2008).
- M. Burgos, A. Kaidi, M. Mbekhta and M. Oudghiri, The descent spectrum and perturbations, J. Operator Theory, 56 (2006), 259-271.
- 8. A. Elkoutri and M. A. Taoudi, Spectral Inclusions and stability results for strongly continuous semigroups, Int. J. of Math. and Mathematical Sciences, 37 (2003), 2379-2387.
- K. J. ENGEL AND R. NAGEL, One-Parameter Semigroups for Linear Evo-lution Equations, Graduate Texts in Mathematics, Springer-Verlag, New York, 2000.
- A. PAZY, Semigroups of Linear Operators and Applications to Partial Differential Equations, Applied Mathematical Sciences, Springer-Verlag, New York 1983.
- 11. Sutrima, Ch. Rini Indrati, Lina Aryati, and Mardiyana, The fundamental properties of quasi-semigroups, , Journal of Physics: Conf. Series 855 (2017) 012052.
- 12. A. TAJMOUATI AND H. BOUA, Spectral Inclusions for C<sub>0</sub>-Semigroups, International Journal of Mathematical Analysis, Vol. 9, 2015, no. 40, 1971 1980.
- A. TAJMOUATI, M.AMOUCH AND ZAKARIYA M. R. F. ALHOMIDI, Spectral equality for for C<sub>0</sub>-Semigroups, Rend. Circ. Mat. Palermo II, Ser (2016) 65:425434.

- 14. A. TAJMOUATI, Y. ZAHOUAN AND M.A. OULD MOHAMED BABA, Spectral inclusions between C<sub>0</sub>-quasi-semigroups and their generators, Boletim da Sociedade Paranaense de Matematica, ISSN-0037-8712 in press.
- 15. A. TAJMOUATI, M. KARMOUNI AND Y. ZAHOUAN, Quasi-Fredholm and Saphar spectra for  $C_0$ -quasi-semigroups, Advances in Operator Theory, doi.org/10.1007/s43036-020-00040-2.
- 16. A.E. TAYLAR AND D.C. LAY, Introduction to Functional Analysis, 2nd ed. New York: John Wiley and Sons, 1980.

A. Tajmouati, Y. Zahouan and M. A. Ould Mohamed Baba Laboratory of Mathematical Analysis and Applications (LAMA), Sidi Mohamed Ben Abdellah University, Faculty of Sciences Dhar Al Mahraz, Fez, Morocco.

 $E{ ext{-}mail} \ address:$  abdelaziz.tajmouati@usmba.ac.ma $E{ ext{-}mail} \ address:$  zahouanyouness1@gmail.com

 $E ext{-}mail\ address: bbaba2012@gmail.com}$